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. If the letters of the word “TIRUPATI”
are written down at random, then what
is the probability that both Ts are

always consecutive ? . /—\
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EXAMS

. If the letters of the word “TIRUPATI”
are written down at random, then what
is the probability that both Ts are
always consecutive ? ]

| 1
(2) )
1
(b) 2
1
(c) =
1
d) 1a

Ans: (a)
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. Let m=77". The index n is given a
positive integral value at random. What
is the probability that the value of m
will have 1 in the units place ?

l it J"(?" . (9?n) = anit aﬁd” (?”)

(@ 3

j ?’/kf/ = F
(b) 5 7'//(12.:?

Yk+3 = 3
© 5 I 1 )
- U] -

1 4 7 =/

d) 5 AP
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. Let m=77". The index n is given a
positive integral value at random. What
is the probability that the value of m
will have 1 in the units place ?

(@) 7

1
b) 3

|

(d)

Ans: (c)

(@=]
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. Three different numbers are selected at
random from the first 15 natural
numbers., What is the probability that
the product of two of the numbers is
equal to third number ?

1
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. Three different numbers are selected at
random from the first 15 natural
numbers., What is the probability that
the product of two of the numbers is
equal to third number ?

1
() o1

(b)E
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Let A and B be two events such that
P(AUB) = 0-75 and 0-125 = P(ANB) < 0-375.

What is the minimum value of

P(A) + P(B) 7

(a) 0-625 Aua = P(A +P(B)- P(AOB)

(b) 0-750

© 0825 075 < plave) = P(a)+2(8) — Plaos)
(d) 0-875 -

035 & P #0(8) — Plhos)

‘ 0
plAtr(s) 2 05 # p(nas) p() +P(s) 2 0:354 0l25

— 70875

———
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Let A and B be two events such that
P(AUB) = 0-75 and 0-125 < P(ANB) = 0-375.

What is the minimum value of
P(4) + P(B) ?

(a) 0-625

(b) 0750

(c) 0-825

(d) 0-875

Ans: (d)
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Let A and B be two events such that
P(AUB) = 0-75 and 0-125 < P(ANB) = 0-375.

. What is the maximum value of
P(A)+ P(B) ?.

(a) 075
(b) 1-125
) 1375
d) 1-625

035 + P(n08) £ p(A) +P(e)

beys 4+ 0:335 < P(A)+P(8)

/126
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EXAMS

Let A and B be two events such that
P(AUB) = 0-75 and 0-125 < P(ANB) = 0-375.

. What is the maximum value of
P(A) + P(B) ?.

(@) 0-75
(b) 1-125
(c) 1:375
(d) 1-625

Ans: (b)
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A, B and C are three events such that
P(A) = 0-6, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) =0-3 and P(ANBNC) =0-2 and

P(AUBUC) = 0-85.
What is the minimum value of
P(BNC) ? - _
(:) g? P(AUBUC) = P(ﬁ) * P(g)'f P[C) ‘P(A{)Q - P(BOC) P{COA)
® 02 - + #(A0B0cC)
(c) 035
D% plave) = P(a) + p(8) — p(no8)
0t = 06+0Y — %
1 = D 2
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p(rvsue) = P(A) + p()+ pc) — P(A08) - P(Bc) — Plcan)
+ #(AnB0C)
085 £ 06 +04 40u5 =02 = P[0e) — g4 g

0: &5 < J2 - Pﬁ(snaj
Thie 15 A /hoéabf’[f — P(AUBUC’)MM =/

/

oﬁ’va mmimurm  Valw 97/' /’[Bnc) = 02



NDA 1 2025 LIVE CLASS - MATHS - REVISION

A, B and C are three events such that
P(A) =06, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0-3 and P(ANBNC) =0-2 and
P(AUBUC) = 0-85.

What is the minimum value of
P(BNC)?

(a) 0-1
(b) 02
(c) 035
(d) 0-45

Ans: (b)
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A, B and C are three events such that
P(4) =06, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0-3 and P(ANBNC)=0-2 and

P(AUBUC) = 0-85.

"What is the maximum value of

P(BNC) ?

@ 01 g5 < [2 - Plsnc
0rs)

(b) 02

() 0-35 p(snc) < [12 -0-¢5

(d) 0-45

p(Bnc) & 035

—
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A, B and C are three events such that
P(4) =06, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0-3 and P(ANBNC)=0-2 and
P(AUBUC) = 0-85.

"What is the maximum value of
P(BNC) ?

(@) 01
(b) 0-2
(c) 035
(d) 0-45

Ans: (c)



NDA 1 2025 LIVE CLASS - MATHS - REVISION

0
An unbiased coin is tossed n times. The @ X — hHumbey 9/ 7‘0«1/5'
probability of getting at least one tail is p

and the probability of at least two tails
5

isqandp—q=~§. f - /- (P(no fa;/g)

. What is the value of n ? _ _ . /’(X:') = /"f
i pl p(r=0) 3 )

(b) 5

© 6 g = /- (P[ofaf/s) + Pl f’“?/))
d 7 . (("'/’)7" ncl (£)J(£_ nfl)
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An unbiased coin is tossed » times. The
probability of getting at least one tail is p
and the probability of at least two tails

isqandp—q=3—2.

. What is the value of n ?
() 4
(b) 5
(c) 6
d 7

Ans: (b)

(@=]

EXAMS
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An unbiased coin is tossed » times. The
probability of getting at least one tail is p
and the probability of at least two tails
5 [ = P(x=0)

>
1|

isqandp—q=-§.

What is the value of p+¢ ?

!

—

\

=1

s>
oo~
» W~
D
(\
*\~
SN—
=

57
@ 3
53 ) -1 = 2
® 3 P 35 32
51
(c) 5 "Z - )
@d 1 f 32 Pt = %




NDA 1 2025 LIVE CLASS - MATHS - REVISION

An unbiased coin is tossed » times. The
probability of getting at least one tail is p
and the probability of at least two tails

isqandp—q=3—2.

What is the value of p+¢ ?

57
(2) ET)

53
®) 35

51
32

@ 1

(©

Ans: (a)

(@=]

EXAMS
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Q)A husband and wife appear in an interview for two

vacancies 1n the same post. The probability of

A | s . :
husband’s selection is — and that of wife’s selection is

5
;. What is the probability that only one of them will

be selected?

_L.){(/-...,. t _LX(/—_L)

1 2 3 3 5

(a)g (’E))?l ]

(C)g (d)g _2__ -1—2_@_,:_2_-_
[y 1) [5- b

—,-é
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Q) A husband and wife appear in an interview for two

vacancles 1n the same post. The probability of

A | s . :
husband’s selection is g and that of wife’s selection 1s

;. What is the probability that only one of them will

be selected?

1 2
(a) ?? (b) 2
(c) g (d) g

Ans: (b)
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Q)If A and B are independent events such that

1 7 —
P(A) = ?P(A UB)= 0 then what 1s P(B) equal to ?

Flroe) = P().p(s)
plros) = #l1) +P(8) - p(4)1(8)

(a) (b)

col =AM
Ol |w

©) (d)
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Q)If A and B are independent events such that

1 7 —
P(A) = ng(A UB)= 0 then what 1s P(B) equal to ?

(a)

col =AM

©)

Ans: (c)
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Q)For two events A and B,
let P(A)= 1 P(A U B) = 2 and P(A N B)= l What is

2 3 6
P(A N B) equal to? P(AUB) - f[ﬁ) + P[B) - P(AOB)
(@) (b) )L (d)
6 4 3 2 A -1+ L =/>(3)
p(e)- p(ans) 3 % ¢
B y -3 "‘/ -/

A
@@ R ¢ 3
3 1

——
N N
)
h S
S—
1
[~
\
P'\
h
D
S,
)
os | v
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Q)For two events A and B,

let P(A)= %, P(A U B) :g and P(A N B) = % What is

P(A N B) equal to?

1 1 1 1
(a) 5 (b) 2 (c) 3 (d) 5

Ans: (a)
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Q)If A,BandC are three events, then

what is the probability that atleast
two of these events occur together ?

(2) PANB)+PBNC)+ PC NA)¢~—"" atfeost fag — (Aﬂﬁ}

(6) P(AAB)+PBAC)+ PC  A) o
_P(ANBAC) « (M + [40806)
(©) P(AnB)+P(BAC)+ PC A A) =
_2P(AB C) v (CM)

d) PANnB)+P(BNC)+ PC N A)

_3P(ANB NC) —
] @9
c D
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Q)If A,BandC are three events, then

what is the probability that atleast
two of these events occur together ?

(@) P(ANB)+P(BAC)+ PC N A)

(b) PAnB)+P(BNC)+ PC N A)
—-P(AnB nNC)

() P(ANB)+P(BNC)+ PC N A)
—2P(ANB NC)

(d) P(ANB)+P(BNC)+ PC N A)
_3P(ANB NC)

Ans: (c)
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Q)8 coins are tossed simultaneously. The probability of
getting atleast 6 heads is

7 57 37 229
(a) — o4 (D) & (C) ﬁ (d) ﬁ
roa-r
¢ Heads + % Heods + § Heeds P(’(”) ’ r/’ 7/
g : . JC TRV ) / 4 10 _
O ST SEE
AT [ § /L e ) n
( ' ()+/(4 /}f"(b-v
! - 3f S UL
(4 [e?ffff/j i (=", =7, =
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Q)8 coins are tossed simultaneously. The probability of

getting atleast 6 heads is

@ -~ (b) 27 ©) 2L (d) 222

64 64 256 256

Ans: (c)
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Q)Five sticks of length 1, 3, 5, 7 and 9 feet are given. Three
of these sticks are selected at random. What is the
probability that the selected sticks can form a triangle?

(a) 0.5 (b) 0.4 (c) 0.3 (d) 0
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Q)Five sticks of length 1, 3, 5, 7 and 9 feet are given. Three
of these sticks are selected at random. What is the
probability that the selected sticks can form a triangle?

(a) 0.5 (b) 0.4 (c) 0.3 (d) 0

Ans: (c)
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Q) A fair coin is tossed 100 times. What is the probablllty of
getting tails an odd number of times?

1
@ - ® 3
1 N
© 7 @ 7
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Q) A fair coin is tossed 100 times. What is the probablllty of
getting tails an odd number of times?

1
@ - ® 3
1 N
© 7 @ 7

Ans: (a)
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Q) One bag contains 5 white balls and 3 black balls and a second
bag contains 2 white balls and 4 black balls. One ball 1s
drawn from the first bag and placed unseen 1n the second
bag. What 1s the probability that a ball now drawn from the
second bag 1s black?

15 35
(a) Py (b) 7
© @ =

56 48
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Q) One bag contains 5 white balls and 3 black balls and a second
bag contains 2 white balls and 4 black balls. One ball 1s
drawn from the first bag and placed unseen 1n the second
bag. What 1s the probability that a ball now drawn from the
second bag 1s black?

15 35
(a) PP (b) 7
37 25
(c) 56 (d) 12

Ans: (b)

EXAMS
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Q) Consider the following relations for
two events E and F.
1. AENF)=P(E)+ P(F)—1
2. EUF)=P(E)+P(F)+P(ENF)
3. (EVU F)< P(E)+ P(F)
Which of the above relations is/are
correct?
(@) 1 only (b) 3 only
(c)1and3only (d)1,2and3
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Q) Consider the following relations for
two events E and F.
1. AENF)=P(E)+ P(F)—1
2. EUF)=P(E)+P(F)+P(ENF)
3. (EVU F)< P(E)+ P(F)
Which of the above relations is/are
correct?
(@) 1 only (b) 3 only
(c)1and3only (d)1,2and3

Ans: (c)
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Q)If a fair die is rolled 4 times, then
what is the probability that there are
exactly 2 sixes?

5 25
a) — b) /=
()216 ( )216
125 175
C) — d) —=
()216 ( )216
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Q)If a fair die is rolled 4 times, then
what is the probability that there are
exactly 2 sixes?

5 25
a) — b) /=
()216 ( )216
125 175
C) — d) —=
()216 ( )216

Ans: (b)
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EXAMS

Q) The probability that a student passes in mathematics is 4/9 and that he passes in
physics is 2/5. Assuming that passing in mathematics and physics are independent
of each other, what is the probability that he passes in mathematics but fails in
physics?

a) 4/15
b) 8/45
c) 26/45
d) 19/45
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EXAMS

Q) The probability that a student passes in mathematics is 4/9 and that he passes in
physics is 2/5. Assuming that passing in mathematics and physics are independent
of each other, what is the probability that he passes in mathematics but fails in
physics?

a) 4/15
b) 8/45
c) 26/45
d) 19/45

Ans: (a)
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Q) An aircraft has three engines A, B and C. The aircraft crashes
if all the three engines fail. The probabilities of failure are
0.03, 0.02 and 0.05 for engines A, B and C respectively.
What 1s the probability that the aircraft will not crash?

(@) 0.00003 (b) 0.90
(c) 0.99997 (d) 0.90307
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Q) An aircraft has three engines A, B and C. The aircraft crashes
if all the three engines fail. The probabilities of failure are
0.03, 0.02 and 0.05 for engines A, B and C respectively.
What 1s the probability that the aircraft will not crash?

(@) 0.00003 (b) 0.90
(c) 0.99997 (d) 0.90307

Ans: (c)
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Q) The probability that in a random arrangement of the letters
of the word 'UNIVERSITY", the two I's do not come together
1S
(@ 4/5 (b) 1/5
(¢ U/10 (d) 910
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Q) The probability that in a random arrangement of the letters
of the word 'UNIVERSITY", the two I's do not come together
1S
(@ 4/5 (b) 1/5
(¢ U/10 (d) 910

Ans: (a)
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Q) Threre are 4 white and 3 black balls in a box. In another box,
there are 3 white and 4 black balls. An unbiased dice 1s rolled.
If it shows a number less than or equal to 3, then a ball 1s
drawn from the second box, otherwise from the first box. If
the ball drawn is black then the possibility that the ball was
drawn from the first box 1s
(@ 12 (b) 6/7
(c) 4/7 (d) 3/7
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Q) Threre are 4 white and 3 black balls in a box. In another box,
there are 3 white and 4 black balls. An unbiased dice 1s rolled.
If it shows a number less than or equal to 3, then a ball 1s
drawn from the second box, otherwise from the first box. If
the ball drawn is black then the possibility that the ball was
drawn from the first box 1s
(@ 12 (b) 6/7
(c) 4/7 (d) 3/7

Ans: (d)
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Q) Two students X and Y appeared in an examination. The
probability that X will qualify the examination is 0.05 and Y
will qualify the examination 1s 0.10. The probability that both
will qualify the examination 1s 0.02. What 1s the probability
that only one of them will qualify the examination 7

@ 0.15 (b) 0.14
(c) 012 (d) 0.11
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Q) Two students X and Y appeared in an examination. The
probability that X will qualify the examination is 0.05 and Y
will qualify the examination 1s 0.10. The probability that both
will qualify the examination 1s 0.02. What 1s the probability
that only one of them will qualify the examination 7

@ 0.15 (b) 0.14
(c) 012 (d) 0.11

Ans: (d)
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1 1
Q) Two men hit at a target with probabilities —and =

2 3
respectively. What 1s the probability that exactly one of
them hits the target?

(a) (b)

(c)

1
3
2
@ 3

| — b=
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1 1
Q) Two men hit at a target with probabilities —and =

2 3
respectively. What 1s the probability that exactly one of
them hits the target?

(a)

(c)

| — b=

Ans: (a)
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1
Q) The probability that a ship safely reaches a port is 3 The

probability that out of 5 ships, at least 4 ships would
arrive safely is

1 10 11 13
(@) A3 (b) 543 () 543 (d) 543
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1
Q) The probability that a ship safely reaches a port is 3 The

probability that out of 5 ships, at least 4 ships would
arrive safely is

1 10 11 13
(@) A3 (b) 543 () 543 (d) 543

Ans: (c)
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Q)If P(B)=§, P(A mBmE):1 an

3
then what is P(B N C) equal to?

(a) - (b) 3 ()

12 4 15

d P(ANBNC)=

1
d) ~
()9

1

b
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3 1

Q)If P(B)=2, P(A mBmE):g an
then what is P(B N C) equal to?
1 3 1
a) — b) = c) —
()12 ()‘4 ()15

Ans: (a)

d P(ANBNC)=

1
d) ~
()9

1

b



NDA 1 2025 LIVE CLASS - MATHS - REVISION

Q) An unbiased coin is tossed until the first head appears or
until four tosses are completed, whichever happens earlier.
Which of the following statements 1s/are correct ?

1
1. The probability that no head 1s observed 1s 6
2. The probability that the experiment ends with three
) 1
0Sses 15 —.
© 8

Select the correct answer using the code given below:

(@) 1only (b) 2 only
(¢c) Bothland?2 (d) Neither 1 nor 2
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Q) An unbiased coin is tossed until the first head appears or
until four tosses are completed, whichever happens earlier.
Which of the following statements 1s/are correct ?

1

1. The probability that no head 1s observed 1s 6
2. The probability that the experiment ends with three

) 1

0Sses 1S — .

© 8

Select the correct answer using the code given below:
(@) 1only (b) 2 only
(¢c) Bothland?2 (d) Neither 1 nor 2

Ans: (c)
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Q)Let two events A and B be such that
P(A)= L and P(B) = M. Which one

of the following is correct?

L+ M-—-1
A
(@ P(A|B)< y
L+ M -1
b) P(A| B
() P(AB)> =
[+ M -1
© PAIB 2 =
@) P(A|B)= £ M =1

M
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Q)Let two events A and B be such that
P(A)= L and P(B) = M. Which one
of the following is correct?

(&) P(AIB) < =2 =
(0) P(AIB)> ==
(@HM@2L+$_1
(@) P(AIB) = =

Ans: (c)
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EXAMS

Q)If 5 of a Company’s 10 delivery
trucks do not meet emission
standards and 3 of them are chosen
for inspection, then what is the
probability that none of the trucks
chosen will meet emission

standards?

1 3
(@) 3 (b) ?
() Py (d) 2
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EXAMS

Q)If 5 of a Company’s 10 delivery
trucks do not meet emission
standards and 3 of them are chosen
for inspection, then what is the
probability that none of the trucks
chosen will meet emission

standards?

1 3
(@) '51 (b) ?
(c) Py (d) 2
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EXAMS

Q)In a series of 3 one-day cricket matches between teams A
and B of a college, the probability of team A winning or

drawing are 1/3 and 1/6 respectively. Ifa win, loss or draw
gives 2, 0 and 1 point respectively, then what 1s the

probability that team A will score 5 points 1n the series?

17 11
@ T3 ® 15
i o L
(c) o (d) T3
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EXAMS

Q)In a series of 3 one-day cricket matches between teams A
and B of a college, the probability of team A winning or

drawing are 1/3 and 1/6 respectively. Ifa win, loss or draw
gives 2, 0 and 1 point respectively, then what 1s the

probability that team A will score 5 points 1n the series?

17 11
@ T3 ® 15
i o L
(c) o (d) T3

Ans: (d)



NDA 1 2025 LIVE CLASS - MATHS - REVISION

Q) If probability of simultaneous occurrence of two events A
and B is p and the probability that exactly one of A, B
occurs is g, then which of the following is/are correct?

1. (A)+P(B)=2-2p —gq
2.P(ANB)=1-p—gq
Select the correct answer using the code given below.

(@) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

XAMS
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Q) If probability of simultaneous occurrence of two events A
and B is p and the probability that exactly one of A, B
occurs is g, then which of the following is/are correct?

1. (A)+P(B)=2-2p —gq
2.P(ANB)=1-p—gq
Select the correct answer using the code given below.

(@) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)

EXAMS
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